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This book
is the fruit of my experience teaching the so called subject inferential
statistics at the University of Aden, Faculty of Administrative Sciences,
Department of Statistics and Informatics, for the past ten years.
Statistics is divided into two main branches: Descriptive Statistics and
Inferential Statistics. The aim of inferential statistics is to deduce the
characteristics of a population from the characteristics of a sample drawn
from it.
Descriptive statistics contain the methods used to summarize and describe
numerical data in order to facilitate its interpretation. Inferential
statistics includes those methods through which decisions are made about
the statistical population, based on the reality of the sample drawn from it.
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a =X - (0.543)(25)
a=30 - 13.575

a = 16.425

X=a+ bY

X=16.425+ 0.543 Y

plall 36T sV (s d) 3 OO 5 2 Slays U sl DL et (7.3) Jw
i) (50 o Gemdll) el Y1y las V) Gl 3 %15V

Y kX 53X JoY LVl gslas

c-LAD-Y\ C)loh))) ALAJ;Y\ &:)lD.JJ 8 LL{}}H ‘.}ﬁl&é

30 = slazsV) é 39,-).\5\ oK 1A clas Y é '&a;}:l\ :&q-).\”

A1
JIT
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&:)lD.JJ
32 |34 |38 |29 |36 |31 |32 |35 |28 |25
slasyl
C')lq-).)
39 |33 |30 |31 [32 |36 |41 |49 |46 |43
cla=Y!
JA-\
J‘My‘ u:laa
Y =a+bx
X =a+ by
X
p o 25V
yx?
a=y-bx

bWy sLas VI Glus (3 oMl Syl a2V Folao ks (7.3 ) s

X Y (X'X) (Y‘Y) 2 xy
x y
25 43 -7 5 49 25 -35
28 46 -4 8 16 64 -32
35 49 3 11 9 121 33
32 41 0 3 0 9 0
31 36 -1 -2 1 4 2
36 32 4 -6 16 36 -24
29 31 -3 -7 9 49 21
38 30 6 -8 36 64 -48
34 33 2 -5 4 25 -10
32 39 0 1 0 1 0
Zx =¥ 0 0 XX’ Yy2=398 | Yxy=-93
320 =380 =140
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X =YX /n=320/10 = 32

Y=3Y/n-=380/10 = 38

a =§ -bx

a =38 - (-0.664)(32)
a=238+21.248 =59.248
Y =a+bX

Y = 59.248 - 0.664 X

X =a+ by

a=X-by
a=32-(-0234)(38)
a=32+8.892 =40.892
X =a+bY

X =40.892 -0.234Y

XXy

P axz sy

Xy
b="2_ 0664
140
_ XXy
2y?
b= "22__0234
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-93

-93

-93

= J(a0)(398) V55720  236.05

Y =59.248 - 0.664 X

Y = 59.248 - 0.664 (30)

Y =59.248 - 19.92 = 39

=-0.394

$2 (V) ladl o5 (X) 03Vl Bledl wlas o WUl SULI) (7.4 )b
K Sldl o2 8 E X e VY sl dos) v flasly Slb L
OMeWly el Slas Gy Oy LLOYI Jalee S 2 20 0NV Bl Slis

c Ol o5
X
900 500 600 | 1200 900 | 300 500| 1100
(3)
Y
15000 | 10000 | 12000 | 25000 | 20000 | 8000 | 13000 | 25000 ($)
oMely aledl olas o (V) rs,\.@.\ Wolao s (704 )dgde 4
(X)
X Y X-X) | (Y-Y
$ (100) | $ (1000) ,(C ) 3(, ) o v’ *
11 25 3.5 9 12.25 81 31.5
5 13 -2.5 -3 6.25 9 7.5
3 8 -4.5 -8 20.25 64 36
9 20 1.5 4 2.25 16 6
12 25 4.5 9 20.25 81 40.5
6 12 -1.5 -4 2.25 16 6
5 10 -2.5 -6 6.25 36 15
9 15 1.5 -1 2.25 1 -1.5
dxy=14
YX=60|3Y=128 |0 0 Yx? =72 | Yy?=304 1
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X=YX/n=60/8=75

Y=Y/n=128/8 =16

X
o 2V
yx?
b= _ 1958
72
a=y-bx
a=16 - (1.958)(7.5)
a=16-14.685 = 1.315
Y = a+ bX
Y = 1.315 + 1.958 X
X =20 Oy aledl olas ik 13
Y = 1.315 + 1.958 X
Y = 1.315 + 1.958(20)
Y = 40.475 = $ 40475
Sgwy i)Yl Jolas
_ Xy
VXxZYy?
141 141 141

te J(72)(304) V21888  147. 0.959

[ Coefficient of Determination | JyJded| Jolas: 7.2
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Goodness of fit

YY) - N(Y-T)F o+ Y e
S = Al - Al g Gl
[Total variation] = [ Explained Variation] + [Unexplained Variation]
SST - SSR " SSE
>(Y;-Y)>2 - Y(%-Y) " Y e

TYi-V)?  Fdi-Y)? Y ei?
NYi-P)2  X(Yi-Y)2  Y(Yi-Y)?

Yei?
1 = R? +
y?
Yei?
R = 1-
y?

o= (X) OMeVly aledl wls  Je (7.4) 3 Jell bl e (7.5 ) dle
e dydo) Jolas dasl( Y ) Sladd

o2 (X)) 0Vl el i Sl gl Jolne 1z (7.5 ) g+ S
Ol

(r)
Y Y-
X X—X) ( E
s(10 | ( Y 2 2 Y e?
$ (100) ( x |V ¥ Y * Y-Y
00) y
22.85 4.60
11 25 |35 9 1225 |81 | 315 2.147
3 9
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11.10 3.59
5 13 |-25 -3 6.25 9 7.5 1.895

5 1

0.65
3 8 45 -8 2025 |64 |36 7.189 | 0.811
7

18.93 1.12
9 20 |15 4 2.25 16 |6 1.063

7 9

24.81 0.03
12 25 | 45 9 2025 |81 |405 0.189

1 5

13.06 | - 1.12
6 12 |-15 -4 |225 16 |6

3 1.063 | 9

11.10 | - 1.22
5 10 |-25 6 |6.25 36 |15

5 1.105 | 1

18.93 | - 15.4
9 15 |15 -1 2.25 1 15

7 3.937 |9

2Y Yy?
X=60|=12 |0 0 2t | 50 | XY 128 278
2X =60 = =72 ~141 61
g 4

A

Y =1315+1958 X

Y =1315+ 1.958(11) = 1315+ 21.538 = 22.853
Y =1315+ 1.958(5) =1.315+9.79 = 11.105

Y =1.315+1.958 (3) = 1315+ 5.874=7.189

Y =1315+1.958 (9) =1.315+17.622=18.937
Y =1315+1.958 (12) = 1.315 + 23.496 = 24.811

Y =1.315+1.958 (6) =1315+11.748 = 13.063

Yei?

RZ = 1
Yy?
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27.861

RZ = 1- =1-0.0916 = 0.908
304

» _X(i-Y)? _ Explained Vriation _ SSR

T N(Yi-Y)2  Total Variation SST

75 =X 055 ke Y hed a8y ¢ olisl UL o 51ad Y dsles )

99| 96 90 81 78 72 69 66 63 60 X

721 70 73 78 79 82 80 84 87 85 Y

G AW Sloys e DY Je Xy ¢ X Je YV asles o]

S ol UL e X sbam Yl Gl 3 W) Sl sy (Y) sLas ) Bl
75=X 0,5 bae Y b

32| 34 38 29 36 31 32 35 28 25 X

39| 33 30 32 32 36 41 49 46 43 Y

Y Lol )l X sbamV1 3 oMb 10 Slays Ko olisl UL

LUV Jolae
57 69 64 60 56 57 58 58 55 56 X

66| 68 66 70 68 65 70 67 67 68 Y

SUL o R? ol Joloo 58 2 X o Y 1a2Y (] Ol M slas el

N
79 72 67 66 63 64 65 74 86 89 X

84| 78 75 71 72 73 75 84 91 92 Y

A1
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Ola i) G Gl (Gla=V YY) G L s Wl Ola il Cals
cdeate Ul Olwae AN Gandly dhatne 1lde Ol g Wla Y|
e e ) $15 O 151 Jmiie 6 Qe e oo Uiz i) Slpall sl o
c Ll e al) BB L 3o (g2 sl
& 5l LSl se e Jor @ ahaal Sl 0B adl Y B e e
JUbi % <2 F oMl Qg,d; A JLabY sue Jey W) e oSl fads daly
sk e Juy dj‘;ﬂ Slszall el o o, OY by dhaie ke Slge (2
¢ 160 Togost) 0S5 01 K0y 83902 el o oS oo dly (3 53 L1 LSl

de oy ) GBI Baal el 2,2 0l 4 LS sde n o [ 1 e

2

C 10 gl degedl (p JUb] B 62 @ S ol ST JUbYI e
" [ 3]e2
da I X Jadd) Glazall el JlazY) g 056 Jpadl g 1 (801)dbe
Gl 83l _piad 05 Cpuldl ez Ogden ol O sk e

5 4 3 2 1 0 x
0.09 ? 0.4 0.3 0.1 0.01 | F(x)
£(4) dosl I
P(x < 3) « P(x<3) doyl Il
P(x3>4) dosl I
J

tﬁ;}d\g,@,ixfiﬁﬁ\akwwfdb\dﬁl’ac&mﬂiﬂ\d“{

> f(4) =2

f(0) +f(1) +£(2) +.....+ £(5) = 1

0.01+0.1+0.3+04+ f(4) + 0.09 =1

f(4) = 1.0 - 0.9

f(4) = 0.1
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> P(x<3)=P(x=0) +P(x=1)+P(x=2) +P(x = 3)
= f(O) + f(l) + f(z) + f(3)
=001+0.1+03+04
=0.81
> P(x<3)
P(X<3)=P(X=O)+P(X=l)+P(X=2)
=0.01+0.1+0.3
=041
> P(x>4) =P(x=4)+P (x=5)
=0.1 +0.09 =0.19
It 3 i &l (2 08 131 Joame 4l Slote e o Jo 1 o) Slslall el @
s+ oo (gt Hmn b il J L OF Jlaz ] 01 5 22,200 51ae™ V2 351 L
C 2l B e By B anh Bes® Ol am
0 2aak) slaeVl e SV ) Jle e 5ile o) Slstall el ie 2 S5 e
g 1 e ol Bl el Vs e o Bzl s K85 0 o1 2y
LGVl e Ll ol Syl el s 0
dodhatey B ne Wl s [ £y 1> Sy 131 e &l X Szl sl o Jy
P2 aadl sl e,
P(asX<?)=[ f(x)dx
WP Cm, P ikl add) el e cli3,
W oo BB ged 5 ol Gl e bz V) &1 el £ (30) Al oud
Pl oAl G Il ods Oy ¢ B&AIs b f (x) OF i £ (x) o)l
f(x)>0"
[} fdx=1"
D x ped Wl BRIl (8.2) Jiw
(f(x)=0) x<1
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(Foo =242 -2 1<x <3

(f(x) =0) x>3 )
g de (sl ol o4 G Ll Of

:

:d.':\;\ g,)}ﬂal\

f_o:of(x)dx=1

2 fode= [T f(x)dx+ f3 f(x)dx+ f°° f ()dx
-

3 —3x3 3x
e
—3x* 3
STy |3
(CE (e
2 2 16 16
=-75+13-45
=13-12=1

bl U 2Ll Bl Ol sl ity bl 22052000 Ol 2ulys OF
el (2 3 Oolyles) NS el Jlan s 3 ol (g g e dpad) &
oLl 3L

Joo Slikd) o 3l () 2egl) Al V) Sl ) o e b L (2 s
2 el s il Glaal el N3y Opuly g ¢ ) 63 g
v bl Glotall gl O g O

| Binomial Distribution |: ¢rud| (63 & :8.1

i Lrasd o U U 2l B w5 s o) 3 5] SUI Bl W1 51
e 2 el 5150 n ¥ bl dlezml 01 W) L2l 005 Whts 1, 3 )
ool Yl Y dazs Pl adeVI T Ohlam Y1 oh Gl gy s e

ol 63 Gl s patlas
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g2l ot & oy p ) ezl U (6T Sl Lnny oo Y11 ISz I
A Wilaze by OVl ol ITT
nosdd [ptq=1 | C?haj\ Al sl Jadly C\;,;‘J\ L}L«b—\ - LAY
el e Ol
 GYE Jam il (65 sl el xp)

p{x} = cp*q"™*
P(x) ="C, P* (1 - P)"~*

3 V) 30K 136 g a5 e 53 ik ol 0, 0T Jlen| (48 3 ) Jles

.;B);oﬁyv\&woﬁo\du,\wws

:JA-\

Y= {p] rlsdl dlo

%= -1=p -1=1 q} Jad) |

8§=n

1oy s BV o JUbY e (s 05 O) Jlaz| e Joad s
P=d=1p(4)+p(5) +p(6) + (7) +P(8) |

P(x) ="C, P* (1 - P)"~~
5670

P(4) = m( )4( )* = 65536
P(5) - m Q) = s
252

P(6) = 5( )° ( )2 ~ 65536

_ 8 Av73v1 24
P(7) _7!1!(4) (4) ~ 65536

8! 1.g 30 1
P(8) = 810! (Z) (Z) ~ 65536
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P>4={p(4)+p(5) +p(6) + (7) +p(8)

5670 252 24 1
~ 65536 65536 65536 = 65536
5947
= = 0.090
65536

[Poisson Distribution] 2 Qg g G} 5 :8.2

o 3 et + (el Woail] W) Sl o Oyl 5 e
sl e Jod slolannals o el Wy olas Wy el o) G lided
d}w\}: C"J}:s . %JL&:;‘Y\} %J\in r}\ajb C)Uw.sji d)f} w.\“ ¢L~>‘§/\ 2..#\)3)
el Oy A LU L )

L BN B e Wz V) 3 0K 1513

X

eresmennennt 20 1o X = 0cef(X) = P(X =x) = %e_l

P(x) = o e’

PP Oseln )5 Gekd 203 by 2l
(bl sl J2dll ) Olslaze 0ldL s 0K 01
Wie S 055 01 g I
JEHRFC RUREIVINE NP S SR 11
oo [ D] dlsVly i S [ 0] il (2 IV
do 652 Gatio 3 SV o dms Ol35b 5 ey OF Jlesl sl (844) Jlie
6f e™* =10.0183} Aure Ol)sdl 0dn o0 %2 O psbre bl ey 4 5 200
J&!
(n) = 200 = Olyzdl sue
0.02 = ome S Lo sad] L]
A =np
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_ 200 x0.02 - 4
pad SVl (20 SV e dme Slipd 5 Je Jpadl b | B e oy 5
cias Olgd 5414¢3¢2¢1¢0 Je

lx
P(x) = —!e‘J

{ P(0) +P(1) +P(2) +P(3) +P(4) +P(5)] = » wgball Jlez=Y|
P ={P(0) + P(1) +P(2) +P(3) +P(4) +P(5){

40 41 42 43 4 5

_ _ _a 4t
tr—ett—etr—et+—et
1 21 31

= —e
= 8_04. f1+4+8 +32/3+32/3+128/15}
= 0.0183 (643/15) =0.78

[ Normal Distribution] 9'.:,]4)\ & 531 :8.3
é\}l\ S LS oot 5o (8 ezl Aol Wl Sl 5 Al e d;..la)\ G;}:J\M
S e ((Symmetric) Jlos 50 A S5 e 0 @O A K3 e
cgld] bl d UL ollis)

‘?trw‘ C"‘}}:" LS”"A (8.1) bg“i
= 99.74% ;
<t ——_—)..I
i 95.44%
- >
68.26%

-
-

E

T T T ; T T : -

) w5
(A oW S5 A Jae w55
sty Loy Lo I 2 50 B ) g o b (5Lt

Al
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2r;+0 gyl isllly -0 r1+0@g@gc27o\,\bul\
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B bl e %99.73 p 31 -0
el d (el adall ol o2 2LV
102 oy ez @l X (Joall) jozadl Szl sell oo Js s iy i @
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[ Standard Normal Distribution | : (5 kall ‘_",..,'LJ\ & ¥l

Gl Oley (0 832 B skae 8 AN el ) b bl pdl) ol ady
) el B G B mey Bl VL 5 L 35l oS 3y
P LE 2 (2) el il ol 130 el el sl

Z=—"
G s

Z =1.54

= -1.54

: Olghade| @
Z 558 G Ja dVAE (Z = 154) st Y golall aeld) wiAl Do o
5 g0l ! CLL&:, 0.04 syl dI Ja 2= a3 H &5 1.5 Cadl ) o 2
(04382 ) (£ & glbal) 2 Lidamy
Z=-154 = (0.4382)
Z =025 2 o ) bl ) ill o 2Ll dor sl (846 )l
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U 2 o &0 0.0987 = (85 adall il dsde (0 Z = 0.25 V) g
o (@l il Caas (£¢) 0,5000 (0
PP Z =025 o Jl bl Ol
0.5000 - 0.0987 = 0.4013
160 =7 Sl I ) il O an Ll des] 2(847) it
(0.4452) »Z=- 1.60 3 ob el A e 3 ol
0.5000 o ((0.4452) 7 boslel oS Z = - 1.60 jla J) 2Ll
0.0548 = 0.4452 - 0.5000
%5.:48 5 (10,0548 ) pz=- 0.160 L Il aldl ol
2= ) 2=1.60 o )lall ) gl CF Gl el (8.8 )dbe
* 2.55
(0.4452) » 5 z=1.60 il f Golull das oY)
(04946 ) 25 2z=2.55 il o bl uay: Lk
P z=255 dl 2=1.60 e ieludl 03l
% 93.98 = 0.9398 = = 0.4946 + 0.4452
Gl Loy adal) w31 i SlgSl loall L 067 151 2( 8.9) e
5110 Cp 8 A Blze el boboas OF Jlazs) Lo 8 = (5 5bas 31215 100 =
. Gl 2ele 120
J&!
olgl ol
P (110 <X < 120)
:QTJ,,?-
Xi=110¢ X, =120 (p=100c0c = 8)
(0}
Z,=110 - 100/ 8 = 1.25
Z, = 120 - 100/ 8 = 2.50
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Zy = 2.50 5 Zy=125 gy ielll s Oyl oY1 O
P01 o g lall g doder & sl

Zi=1.25 =(0.3944)
Z, =2.50 = ( 0.4938)
Zy~Z; = 0.4938 — 0.3944 = 0.0994 = 9.94%

:0.0994 = P (110 <X <120 ) lball JleN1 g4

S5k 5 C . 1908 plo sl lly o @V AW AV E 05
LV.‘:" N C"Jjﬂ\ s, %ﬂ\) (Student ))\31«.« f‘wb oj.ﬁ) C"Jjﬂ\ | s 'B.S.)Lu 4.:9
[ student distribution | syl &5

) o etadl Wl Sl 4l 0 pa t C*}}H"k L;XL.“:;.'\S\ t}L«:a-‘}/\ G}jﬂ\ T

(bl
W) )l el s s s,

f(t)=c(1+§)_v+5 o <t < o
:C)TJ,.?
LAl oy =
cl=c

PGV OSEL b w53 % kel Bdll
X —p

Js/n

t =
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The /'_’2 (chi-square) distribution with v = 10 degrees of freedom
0.12

B p=0.0500
B =10

fix) 0.06

F c‘.}j . 806
(Sl Al 5Ll G piaty Bl Al VI Slai gl o (29) F w5
AV 0L F Glzal) el Wl V) BRI 55 Jan

CF(V1—2)/2

F>0‘X(F) = (v2+Vv1F)V1+v2/2

Fais ool
sl do ) sl il o2 a0l i Ll
\%) r‘.ﬂ\ :bm/:- %)é)V] .L:..w\” af.f'" ZQJJ L«“) W L}GFCJ‘}'M I
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i, 5, 66)
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a) Z=(n 1 1.64

b)yZ=0 £ 196

<) Z=_p £2.58

d)Z (%090 42.10

e) Z = L d10.90

f) Z= o d) 2.10

bl 01 Jlod o b0 = 35 1 = 67 po el i) mb Jlste e 2
D degdl da L
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